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AS Chemistry

Activity: A5.03  Percentage yields

Questions

1 When calcium carbonate is heated fiercely it decomposes to form calcium oxide and carbon dioxide.

CaCO3(s) ( CaO(s) + CO2(g)

5.00 g of calcium carbonate produced 2.50 g of calcium oxide. What is the percentage yield of this reaction?

2 Potassium chloride is made by the reaction between potassium and chlorine.

2K(s) + Cl2(g) ( 2KCl(s)

4.00 g of potassium produced 7.20 g of potassium chloride. What is the percentage yield of this reaction?

3 When potassium chlorate is heated strongly it decomposes to produce potassium chloride and oxygen.

2KClO3(s) ( 2KCl(s) + 3O2(g)

Heating 3.00 g of potassium chlorate produced 1.60 g of potassium chloride. What is the percentage yield of this reaction?

4 Sodium reacts with chlorine to produce sodium chloride.

2Na(s) +Cl2(g) ( 2NaCl(s)

When 2.00 g of sodium was burnt in chlorine 4.12 g of sodium chloride was produced. What is the percentage yield of the reaction?

5 Carbon dioxide reacts potassium superoxide, KO2 to produce potassium carbonate and oxygen.

2CO2(g) + 4KO2(s) ( 2K2CO3(s) +3O2(g)

5.00 g of potassium superoxide produced 4.14 g of potassium carbonate. 
What is the percentage yield of the reaction?

Activity notes
Teaching notes

Students should understand that there are many reasons why the yield of a reaction is often less than 100%. They should also appreciate the importance of increasing the percentage yield of the desired product for economic reasons.

Answers to Questions

1 89.3%

2 94.2%

3 87.9%

4 81.0%

5 85.2%
Requirements
(per student)
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